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statements about Indian Constitution is wrong 7

Which among the following
a) It prohibits discrimination on grounds of rel

b} It gi's’ES Gfﬁﬂiﬂ] slatus 1o one [Eﬁgiﬁ“ .
c rovi 3 indivi Q rt][ESS any l'eh 1
) It pro ides to L ; lgl (.J“

d) It ensure%eq%zality Ofdﬁ%{wgiﬂa}?i% B e o ¥ 7
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b)%@ﬂﬁﬁﬁa@ﬂ%ﬁﬁ%m% _
c)ﬂﬁ%ﬁ%ﬁuﬁmwaﬂ%%mmﬂ?ﬁﬂﬁ?ﬁﬁmmm%
d)ﬁwﬁﬁw%wmﬁﬁwmgﬁrﬁﬂﬁm%

Which of the statements given below are correct ?
I. Pressure groups are organised expression of the interests and views of specific

tg]Oﬂ-

social sections
IL. Pressure groups take positions on political issues

I11. All pressure groups are political parties

a) 1, 11, and 111 b) IandII

Wﬁfﬁaﬂﬁﬁﬁ?%ﬁ@:ﬁ?ﬁaﬁg? ¢) Mland I d) Tand Il
L W“’iﬂa@'ﬁ“ﬁmﬁ*ﬁ%%ﬁﬁrﬁaﬁﬁwmﬁam%
e T A Rofy e @ 2
ILE @16 W TS 39 3

a) L TSR b) 181y &) MR d) 1R
Which one of the following is Rabj crop ?
a) Rice b) Millet
Freriifes ¥ & ot 9 e a gy, O OFF S
a) =I49¢1 b) ¥ '

) ¥R d) FuE
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which on¢ of the l‘ol!nwing industries uge Bauxite as a raw material ?

Aluminium b) ¢ ) Jute d) Steel
?gmﬁu?aaﬁﬁmﬁmaﬁam%&ﬁﬁ;ﬂm%mﬁWﬁm%?
a) TR b) Hi¥e ¢) TTEA d) ®w
Which two of the fo!lowing eXtreme locatjons 1€ connected by the east-west corridor ?

a) Mumbai and Nagpur ¢) Silchar and Porbandar

b) Mumbai and Kolkata d) Nagpur and Siligudi -
ﬁm%ﬁﬂﬂﬁﬁ?ﬁ%mw{éﬂﬁﬂaﬁﬁ@ﬁﬁﬁmg? T
a) JFEE T AATTIT ¢) et wd A

b) T T I d) TR @ RS

Which one of the following porns is the deepest land locked and well protected port along th

east coast 7

a) Chennai b) Paradip c) Tuticorin d) Vishakhapatnam.
.ﬁﬁ-ﬁ?quﬁﬁﬂﬁﬂﬁmaﬁ e wd IS qAE@

i @ SR Ieams @

a) W7 b) TR ¢) IR d) faememeT=

Production of commodity, mostly through natural process, is an activity in _____ sector.

a) Primary b) Secondary c) Tertiary d) Information Technolog)

YREAE ST 8T0 deg-Seae & w8

a) RIS b) WS c) T d) a1 A=

The sectors of economy are classified into public and private sector on the basis of :

a) employment condition ¢) ownership of enterprises

b) the nature of economic activity d) number of workers employed in the enterprise

affF & Faffea $ I ) ofses @ B 83 % fra o € .

a) AR & Ry c) JUHI F WA

b) SR TR € SR d) Sl ¥ iR SR 9 wen

Informal sources of credit does not include :

a) employers  b) cooperatives ¢) money lenders d) Friends and Relatives
¥ wor $ : :

a) P b) TEHTQ AHGET <) G d) Bz wd wE)

Globalisation has been facilitated by :

a) Rapid improvements in technology N
b) Liberalisation of trade and iﬂVESfmiﬁl'll-pUllC*]ES
¢) Pressures from international organisations like WTQ

d) All of the abov Ry

¥ s SRR
a)ﬁ@rﬁqﬁﬁaﬁﬁ-@gﬁﬁ 5
b) AR it Py A 3 SAar] §
c) EF{IL’FT@[ BN TE ‘ﬂllﬁ;“ LD
d) 307w @

e
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c) Pure soul-force -

Satyagraha 4TS =

a) Use of physical force d) Seek destructjoy of enemy
(ot pai the adv

b) Inflict paiti on ersary

e 8 IO E : ¢ efeAs a

e d) 7 T e gy

g) TTART
ng Temperance movement ?

Which of the following is not true reg?d’
movement

a) Largely middle class led social reform I

b) Emerged in Britain and America fro™ nln?;iirg?eif:ﬁull(ri};gs

Social Movement rers aga . i )

¢) Socia nt by French labou. alcoholic drinks particularly amongst the working class
- ? ?

d) Aimed at reducing the consumptiOHOf arly a
PreafiRid 3 & GawT gediee(Temperance movement) F ddy ¥ w7 @@l
a)a%ﬁ‘m%wqmaﬁqmmwmwwﬁgaﬁw
b) S=Edl &6 ¥ 2T 3k sfer A SHU
o) WY < & Ryems i wogy &< GIEIEEI AR E]

Y oA GO PP FA P IS G

/drﬁmsr & ¥ w4 qif & g a6
Who gave this statement in 1922: “Liberty of speech ....... , liberty of press ...... freedom of
association”.

a) Mahatama Gandhi ¢) Subhash Chandra Bose
b) Jawahar Lal Nehru d) Sardar Patel
1922 ¥ 3R U8 a9qer fomr : @R @ MGl ... BB ) A | IS
1S 11 I ? :
a) HETCHT il c) g 7% S
d) QR 9T




19,

ICT

SSA CHANDIGARH PRT 27-01-2019

16. A directory within a directory is called a :
a) mini directory b) junior directory  ¢) part directory d) sub directory
T F wisgehi § ST 2 |
}yﬁ#’rg”rmﬁ b) IR Stgey o) 7 sfmaed 0 ¥ S
17. A web site’s main page is called its :
2) Home page b) Browser P; d) Bookmark
ge c) Search Page
a9 e & Ty s Fed B ) &
A b) TR Ty o 7 ¥ d) T
18. Which com ' ‘ . .
; Mmand will you use in Powerp.: . - nee the colour of different
objects withgy changing content ? oint if you need to chang
d) Colour scheme

%gbject Colqur b) Font coloy; Design template

ﬁm%@ammmmm%ﬁammﬁ%m
T IR P i 5

a)\’lﬁ'«ﬁ?{w }fqﬁtm wfﬁwgm d) PR hig

Whi
. ich enables ys to send the same letter to digg t .
erent persons ?
d) none of these

Q) Macrog
b) templat
' ¢ TS c) mail merge



meﬁ@amqaﬁaﬁa%ﬁmﬁ/“ﬁﬂ fﬁ?ﬂr@w%?

g 1 b) S¥wiC d) T3 ¥ Fg AL
Whi jch 0" of the following is not a search engin® ° ?
20 b) Googl ¢) Yahoo- _
) Bing oogle d) Outlook
Dofee ¥ T FT ot o AR -
g) T b) !I"'E °) MH!BE@EF
fn Exceh which one denoted a range from B3 through E8 :
s b) B3:ES c) B3 to E8 d) B3SES
ﬁqﬁmqﬁwﬁaﬂﬂﬁm@maﬂ?ﬁm“'ﬁl%? -
A B8 b) B3:E8 c) B3 toE8 d) B3$ES
2 Special effects used to introduce slides in a presentation are known as
" ffects c) Custom animations d tati
) Transitions b) E 1s d) annotations
s wrdsg @ Y A $ Qg I BT WH aw few wwa w1 e
S
3) g b) THHFCH, Q) FEH T d) T
93, Whatis the meaning of ‘.exe’ ?
a) Express file b) Executable file ¢) Examination file /d')/ Extension file
exe' ¥ I ?
2) TH0H TATSCT b) TRSZEe HIRA  c) TXIET st d) fasare s
24, Which of the following is the functional key for “Find and Replace” option in MS-WORD ?
a) F5 b) Fo6 d) F12
mwaéﬁﬁﬂ%%j{ﬁ@“ @‘W%@aﬁq@aﬂuﬁ?w%?
) FS A ¢) F9 d) FI2
25 The process of transferring files from the internet to computer is called :
loadin
a) downloading b) up & ¢) word processing d) JPEG
e 4 e T T ST Ry 7
A iR 1) o) a8 GRfT a) SR

26. Which is NOT a basic function of a computer ?
ccept input ./d’}/
2) store data b) accept inp Y R %) process data Sonsrtext

E]il@( Qﬁ;g]:f
ﬁv?r/ o T g !
oo o et B TE T g e AT ) ERE T e
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ight pen and joystick . ]
) . joy Mput devices 9 4 _ d) portals
H)é‘lcgomhm e ——— g8 | utput devices
T IR p) TIC EEIEEE ¢) %aﬁmq d) 9Ty
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¢h one of the 10 b) BASIC 9 d) C++
MS-Excel OBoL
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AR & & A o e @09 T8 2 7 .
) W W THd b) 3w c) PIaTel d) g+

29.  Which E-mail address is in a correct format ?
! d) delhjuniv.www.com

Fq FH @ 39 W (B-mail address) HiHe T 8 7 o o
a) dinesh@gmail.com b) ramesh$yahoo.com c) @yahoo.com d) delhiuniv.wWww.

30.  What “www” means in internet terminology ? N
a) world wide wrestling world wide web  ¢) world wide window d) world wide writing
e TRE ¥ Ty s s (“www?) A 3 € 7
a) avs ags WM (world wide wrestling) c) 958 alzs fa=sr (world wide window)

b) o8 d5e 99 (world wide web) d) goe 43S wefeT (world wide writing)
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a) e ARG G b) RRa o . c) Fffa 2w

d) Remeie e
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30.

‘@Uhﬁmé‘aﬂww@gggmﬁn’wfﬁmma:

a) WrId" b) Iwupropfenrd o) UMY g 3
‘Tolt I BE FuFr g%z fygr At T o0 AoHa farfomr &

2) ANEE by Fumrge for A ¢) a¢ four v d) 7
%Wf&%ﬁwm@mm@f@ﬁ%,WééﬁiﬁmﬁmW%:

Fh DEC S c) ¥3T d) d=

‘TEt WSt foeaet 31 =g feg ferwe T

/a{a'ra% b) Wt c) fozaet d)T

‘fagr 2% forus = 3379 I = few faar @€’ w3 fornTs’ s fom =gar 578 HEfos U5
a) YW &<, TAZ 9K &1 c) YA 5’2, fea e Twa 57

b) ¥ &<, H &’< JyEH S, TLITL &
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Directions. (Q. No. 51-55) : Read the following passage and answer the questions on the basis of
information provided in the passage.

The greatest enemy of mankind, as people have discovered, is not science, but war. Science merely
reflects the prevailing social forces. It is found that, when there is peace, science is constructive; when
there is war, science is perverted to (.iestructive ends. The weapons which science gives us do not
necessarily cause war; they make war InCreasingly terrible, Till now, it has brought us to the doorstep

of doom. Our main problem, therefore, is not to curb science, but to stop war — to substitute law for
force, and international government for anarchy in the relations of one nation with another. That is a

job in which everybody must participate, cluding the scientists. But the bombing of Hiroshima
suddenly woke us up to the fact that we haye very little time. The hour is late and our work has

scarcely begun. Now we are fffce to face wig, an urgent question—Can education and tolerance,
ufiderstanding and creative intelligence run fog enough to keep us abreast with our own mounting

capacity to destroy? That is the question whicy . shall have fo answer one way or the other in this
generation. Science must help us 10 aITVINg gt ¢ answer. but the main decision lies Within ourselves.
51.  According to writer, the real enemy of Manking is not science but war, because :

a) Science merely invents the weapopg With whi i
\ ) % ich war is ht
b) Science during Wars.becomes destl‘UCtive : foug
¢) The weapons that science invents NeCesgyy:
. scien rily lead to war )
&Y The weapons invented by €e do ngy cause war, though these make it more destructive
52.  The expression ‘bring to the doorstep Of dogy
—_—— T means :
af Carry close to death and destructioy ) o us activity
b) Lead to the threshold of a new deStiny c) Indulge in a ruin

2 d) Introduces to an unprediCtable destiny
53.  Which of the following is OPPOSite in

anip, " » i the passage ?
a) Taw end order. g to the word ‘anarchy’ 11 H1*

_b) Political dominance ¢) Economic prospefit)’

al harmony
54.  The phrase ‘our work has scarcely begun, . ) Gommgel b
a) Has not yet begun ) lmplies that our work : :
J) Has only just begun ¢) Has been half-way thronl:] |
ession ¢ ¥ d) Has begun, but not yet completed
55. The expression ‘keep us abreast’ iy, the gun,
M’—-ﬁ

_Z) Keep at a distance passﬁge T
b) Keep side by side

c¢) Hold out a challeng®
W e o e AT TS



Directions (Q. No. 56-57) : Select the most appropriate al
56. He his fault apnqg was

¢) denied, Sehten,
a) agreed, excused rifs ed
b) refused, freed A confesse, Pardong
57.  Prabha’s in athletics yielded rich s she got a Seholarghiy,
a) performance, money c) efzxflszlrlen:_e, leiflends
b) defeat, results d) failure, lsappomtmem

58.  Produce the correct sentence from the following parts of a Sentence -

P. Ram who studied -

Q. in same school and .’
R. paid the fees of his friend

S. who wasArich :
A)%Q(SR b) QRPS ¢) QSRP

a) who he was and why he was

: c) did he return home than
) who he was and why was he

d) No improvement

60.  Choose the alternative which can be substituted fo
One who hates mankind

a) misanthrope b) philanthropist ¢) lover S hater
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61. Which of the following Indians haye receiy

a) Deepa Joshi and Nileema M;
“ - ishra .. ;
) Bharat Vatwani and Sonam Wangchyk 8 i?ljew d(.jl;aturv.edl adndAAtl)hinav
ndi Francis and Anshu Gupta

GGG B
2) A9 Sl Frefr e WW‘ZOIXWW?
Brasmin ey Jdg v

62 Wh]Ch a . E
st ¢ . f <
te has topped the ase o dOll’]g bUSineSS: . .
usseSSIIIent 20]8 ? lankmgs, as pel State BUSineSS Relblm

a) Telangana b) Jharkh
, : and

gﬁﬂ? T gUR P AT 2013 ﬁqczﬁ\ndhra Pradesh  d) Gujarat

W29 TSy 9 3w gg3n e s
a) e b) #ARws |
a cl;]mh of the following has bt?come the first and On| ion in India to launch

at‘eﬂabled help‘deSk service program LAsk Disha’g‘)overnment corporatlon 1n inail
3) Indj S '

ia Pogt b) SEBI d) IRCTC

%ENW_ ¢) IR . '

oyt A B e R RDA . prerhif A @ A
“%@Twmﬁﬁumm%?ﬁmﬁﬁﬁﬂ

Y WY e ORI g e g aré o & A @



. , n spaceﬂight
64. Which country has signed pact with India to collaborate on ISRO’s first huma
programme “Gaganyaap” 9 _

ited States
a) Germany b) France c) Japan d) Unite

F ARA
mﬁﬁwmww“w”ﬂWEEmWaﬂ
$ WY Y FERR B 7

=g &
a) Y of e ) g s TR

. . which of the

65. Chagos Islands, which is in news recently, is the disputed islands between

following countries ?

a) United Kingdom and United States c) Maldiveii e}nd United States

b) Mauritius and United Kingdom d) China and Japan 9

TS éﬁ,@fﬁiaﬁmwﬁﬁ%ﬁwﬁ%ﬂﬁﬂﬁ%mﬁgﬁﬁﬁ? |

d) JATECS fhmsd T TATReS TWTH c) e T TS TTH

b) TRBEE wd gATEds TR b 7 T@ AUH
66. In which state the re-named city ‘Prayagraj’ is situated ?

< i Pradesh —

a) Madhya Pradesh b) Jharkhand ¢) Chhattisgarh d) Uttar

wwﬁwmﬁmm‘W’%&mﬁﬁaﬁ%?

a) TEX T b) FARES ¢) BTG JOSAN qagT
67. Which among the following is measured by an Odometer ?

a) Distance b) Height c) Pressure d) Velocity

¥ ¥ B ISHieT g A S 8 7
(St b) FAE c) &g ‘)\d,) 3

68.

Which of the following women scientist has won the 2018 Nobel Prize in Chemistry ?
a) Christiane Volhard ~ b) Ada Yonath c¢) Frances H. Arnold
Freffa & & A9 6 7er 3mHe 3 w@mT T § 2018

d) Carol W. Greider
z‘/ e ddee b) 3f&T THRY

'_‘h'ﬂaal’@ﬁﬁgﬁm-?
B T I e

Which of the following movie has been chosen as the India’s official entry to Oscars 2019 o
a) Village Rockstars b) Raazi

¢) BRE Ud. 3Ales
69.

ock Kadvi H d) Hichki
;T?‘ii‘qﬁ # Y fE e PR 2019 EF‘C)‘%TF?@XII a@aﬂﬁaaawa 9?9)1 %mhk]

R g1 ey

a) fo e b) TSl ¢) Fedl g4 {%Hﬁ

-70. \Recently which earth observation satellite a]o,

. AL with 30 other foreign satellites was |
Indian Space Research Organization (ISRQ) 7 & AEr ToTelsh aunched by

a) HYSI%H b) N@%) ¢) PSIS d) ;5?

WA T e W T g & # dw s e 4CRC &

1 g i gearde SART B o I
a) HySIS b) NySIS ¢) PSIS d) Esta

7L

‘Bhasha S : o B o .
Government has launched ‘Bl T aNgam’, 3 ynique initiative to introduce school studens ¢,
_____Indian languages, on 22" NOVember 54 g 9

2) 18 b) 22 % b d) 26



72.

73.

74

T

a) President of India ¢) Prime Minister of India

Vice-President of [ngj, d) Navjor Singh Sidhu
RIEG) mﬁ%ﬁﬁ%ﬁqéﬂ—wm(ﬂnﬁ)@’ﬂﬁ@?@ﬁﬁﬁ)
TR 9 s R B w7

a) IRT & e ¢) TR & T wH

b) R & I9-yserafy Yraa R g

Which country will host G-20 summji in the year 2027 9

a) France b) China ¢) India d) Japan
a&zozzﬁﬁ-zoﬁmﬂﬁmﬁﬁ?mﬁwwm?

a) hig by e ¢) 9 d) ST
Which state in India hag hosted Men’s Hockey World Cup 2018 ?

a) Assam b) Maharashtra ¢) Orissa d) Bihar
W%ﬁﬁa&‘mzmsﬁw%%m%%ﬁaﬁ?

a) EH b) AR c) IS d) Br

In how many states in India, assembly elections Wwere held during November—Decen

ber 2018 7
a) 3 b) 4 ‘ ¢) S d) 6
W—Wzms%%m%%@ﬁﬁamwgq?
a) 3 b) 4

c) S : A6
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In:a EETFHin code ‘GOLD’ is written as ‘5124’ang ‘LIVE? ic \wo
written in that code ? ® Writien as ‘2983°. How s ‘voIp?

) 8194 b) 8394 9 814
T 5 ¥ ‘GOLD' # 5124’ T ‘LIVE' 3 'agq d) 8793
S X A frer oM’ VORI A W vor w gy
8194 b) 8394
J ) 8154 d)gros ¥ 1T
"MP” s related to ‘KN’ in the same way as ‘DG’ jg felateq
Q.

el ) ©) HK d) B
‘MP'§7 kN° @ T G G99 &, WW‘DGrﬁW%_ .

b) GJ ¢} Hk ) BE

a) FI



Directions (Q. 78-79) : In each of the questions given below which one of the four answer figures on
the right should come after the problem figures on the left, if the sequence were continued ? AL el

(7T 78-79) Prerifen yaw geT F 9% AR qwiE W awey & @K
WwWﬁaﬁqm@m@Wmﬁmﬁmﬁwwm?

Problem figures | THE 3]'[?12% Answer FjQUI'ESI' I} aﬂ_cléﬁ

Z|Q Ol* 'D’-?."‘D*, a
Q A 0 0
Z|O Z|l la % Qo 4
a) b)
- divoi ﬂguresfﬁqmqwﬁ | Answer Figures / Gﬁ‘{aﬁfﬁf
LS Sy EASISTRAEIREAST STAER!ERATS TERSA/STARE
: 124y | hr 5 32 _ _ L |
2) b) ﬁ d)




a) b) A | d)

80.  Vikram walked 30 Metres towards North, took a left turn and walked 20 metres, He again took g
left turn and walked 30 metres. How far is he from the starting point ?

,Lf- a) 30 metres b) 50 metres _ c) 80 metres d) 20 metres
ﬁmwaﬁmmtﬂnw,maa@%ﬁniﬂﬁw |9 B A g
aﬁrfﬂﬁﬁaﬁmaﬁwﬁﬂﬁqﬁﬂ:ﬁﬁw?

a) 30 fiey b) 50 Hex c) 80 diex AT 20 Hre v
81.  Among P, Q, R, S and T, each having a different weight, R is heavier than only T, P s lighter
-~ than only S. Who amongst the above is the third heaviest ?
a) Q b) R c) S d) None of these
P,QR ST T yaw B aﬁ?%%_ﬂa‘ﬂaT%ﬂTﬁ% FWS%W%
o & fww # @ owed wd 2 o ’
_ b) R c) S d) 19 3§
L T
] x\ 82. Pointing to a boy, Rina said, “He is the only child of my father’s only brother™, How j the boy,
t related to Rina ?
G a) Brother b) Cousin brother ¢) Uncle d) None of these
| @mﬁgﬁﬂmgﬂm%m,ﬁgﬁﬁm%%ﬁﬁ .
A R a dgd # P W Rwg g g



it A LI By | qﬁliﬁ

Which of the option will come in place of the question mark ?

ZX YV WS 2 p;
3 To b) TN SO
c) UD d)
Ty o Wg &1 a1 [Aeed 3o
XYV WS 2 py
; .
h b) T ¢) UO d) SO
1!3, _P' f
-/
q Yo-I3 z
g4, Ina class of 4q childre . .} Mot e y y
 What ; n, Saurabh’s rank mghﬂ‘l the . y
Saurabh. What j¢ ANta’s rank from hu:ﬂm A }Em Mamgy i< e ok below  ©
:ﬁgﬁﬁ’f %} b) 29" oy 28 e 7 !
- T X o § drg g aedl L, d) 26" £
ﬁ#.wﬁﬁfmg? %%%ﬁ?%maﬁg! 7
3) 270 b) 29 =i c) 284t L 'L




!
] ! ES ) d ‘ L ’
§3. Hu:}h;r related to ree” in the same way as ‘silk’ is relateq ¢, . = 4
a) clo : ' | |
" il insects ¢) fabric 1
ﬂjﬁ;ﬂ'ﬁ'ﬂ & S nga*!ﬁﬁ % P aw & T wafg 3 9 handicraf 7o
: b) Fi3 ¢) BE® I o
-.t- L. . d]
%, Ihr:.I éfrsr; !:Dr:{ n::rf how many digits in the number 5314697 Will repya: ¢
are 84 1n ascending order within the number 7 U unchanged, if fhe digits M i
a) None b) One 5 &
R T . c) Two
A g e 2 oar s ) Theee )
314697 - '
a) b) TF ok -
d) T 8 I



Directions (. 87-88) :

§7. Question Figure

In each of the followin
alternative (2), (b), (c) and (d), of the figure (A),

Fen (%7 87-88) -
Fel Wil & w7 w7

Wﬁﬁqﬂt{ﬁmﬁﬁm,

g questions, choose the correct mirror

b @@ (F & fx (A) &

Answer_ Figures | Jeav GHEIEH'
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X

@ o g -
Answer Figures / gﬁ—{w
- ¥|A - o«
y e 0
AD AQe| Ooe
et s
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ur;il:;h; Is twice as old as Rita

2 . E .

} “5pha today 9 Was £ years ago. [rd'ﬂ:&rtnce between their ages is 2 years, how

. EFEars

oy 5 b) 8 years °) 1o p

Years ) 12 years
Ay 4 e A A A wmy M 7 , _
a}ﬁ?&%%ﬁrmWﬁwﬁwﬂﬁﬂrﬂw% 7T T %
@Ehuus ' ) 10 7f d) 1279 - {Lﬂ
€ the ' .
, Correct alternative that wij| compl L A
8, l?dﬂ, ? 76 omplete the rﬂ!lﬂWing series ; j‘ ; {
i] 5'} b
b) 69

_ €) 39 /ﬁﬁ;_ il = 2_{')"-3) .
k. . '
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-y ~-

ir di is 36. Th duct
@ The sum of squares of two numbers is 68 and the squares of their difference is 3 e produc

_ of the two numbers is : o
lL{ f} UL a) 16 b) 32 c) 58 .8 ﬁd)ﬁ U
91_3«,;3' A H B T w A 63 3 g AP, M P FAC
ALY 4% U ¢) 58 d) 1
Ar il D6 n 632
" o the number of the girls is less than the

o e of
92.  There are some boys and girls in a room. The squar more girls, the number of boys would

square of the number of boys by 28. If there were two N re ¢
have been the same as that of the girls. The total number of the boys and girls in the room a

) 56 b) 14 ) 10 d7
L D,r\,% %Wﬁ@aﬁwmﬁ?ﬁ%mﬁﬁaﬁwmﬁ,mﬁwﬁﬁ
L3 s ww b AR w W A 9K R A A osel o den ast # e

i L g TR B W | R A agd o wsfhl W g g § o

P LT Al b W c) 10 d) 7
,)K 1/ &1/*\\,7 AJ’L’ \%‘ % i )

ﬁ( ’ ‘A)\937t/§1m and Mohan appeared in an examination. If the difference in their marks is 60 and
percentage difference in the their marks is 30, find the full marks for which the examination has
been held :

. £°6 Ty ) 200 b) 100 c) 300 d) 400
’50‘./,,%,‘ TR AT T T A e gro1 AR T T ¥ 60 @ amw @ sk
L Hicerd BT 30 R, @ TleT $ogd AR R g ?
(27 _ay 200 b)-100 c) 300 d) 400

If I can walk a certain distance in 50 days when I rest 9 hours each day
to walk twice as far, if I walk fast and rest twice as long each day ? >

l/(i} {o 31)?7%(1?%?? 9 g ar?rnrlof)mcgys@ ﬁ@aﬁc){ézgoda% 3 tee d) 155 days
AR R L MR AR U
[ 1 X TE & TRk g R we g 7 O B s

Fa) 75RA by lo0feE o 125 B d) 155 Ry

95.  If 30 men, working 7 hours a day, can do a piece of work in
men, working 8 hours a day do the same ?

a) 21 days b) 22% days 26 d :
R 30 ameh, 7 @ AW fT FT wa @c)m %ysls fﬁ:rff;—)s%daésﬁ
®F P21 ey, T H ﬂ%mm,%ﬁﬁqﬁm? I

2) 21 R ) 22 e ¢) 26 R d) 30% R

how long will it take me

18 days, in how many days wijj 2

96. Rita bought a television set with 20% discoyp, on the labelled prj
. . i . d
by selling it for % 16,800, The labelled price oF e price. She made a profit of ¥ 800

a) T 18,000 b) ¥ 20,000 ¢) 20,300 d) 24,000

3 v Page-14 . o 1y 13 ,é .’?..X g



& #wsgr% T w
]6'20;)8000# W TR qe v O T g g @A
a) ’

—5) % 20,000 o) T20,800 d) T 24,000

~\ From a Container ﬁ]l

9. )k pof i i

) times. At the eng Of thirq (I:U;'e milk 20% js replaced by water and thig process is ropeatad thees
Peration, the quantity of pure milk reduceg to :

z) 40.0% T @ b) 50.0%

o 0% 51.2% d) 58.8%
@&’W, @W?ﬁgwa ﬁmwaﬂizﬂgﬁmﬁﬁmﬁug
2) 40.0% T soge | OE T F AT b

) 50.0% &) 51.2% d) 58.8%

m of money |ept :
08, A su 5 at compound ing ; 3 i
years. The rate of interegt per annum is :e sk amounts 0 X 1460 in 2 years and to Y 1606 in 3

2) IZ%W S, vrib) 11% c) 10.5% d) 10
e w9 TR 2 af i -y "
5 1460 ~ /=
2 3 *
) 1% b) 11% c) 10.5% 7! 0% ":Eic_

99, Apfece of work can be done by 6 men and 5 women in 6 da)"S, or by 3 men and 4 women in 10
5€

days. It can be done by 9 men and 15 women in :
g
d) 4 days

a) | day _ b) 2days _©) 3days
6 7€ ﬁwsq@muwiﬁrﬁw61%’H*ifr'm3g®ram4w%mq‘loﬁ?ﬁ‘gm3p_

qes T .
w @l & | U8 w1 9 gESl a5 ARemst grn Bm R & Ber o w22
"z"ls

9, 18 3 ' ~
NGB pa i e fh

T8 e ”"; =2

100. A leak in the tank empties it completely in 10 hours. If the tank is full and a tap is opened whic e
admits 4 liters of water per minute, the leak takes 15 hours to empty the tank. How many liters M=

of water does the tank hold ?
2) 2400 b) 4500 c) 1200 d) 7200
GOl Ry R EF B YEE 10 B H Wl Fxap & | gk IF w2 R
2 R o BT # SF F 4 e IHET WRaT &, @ W
' ol

R G il
¥3F 15 g2 F @il e 31 & H fhad eflex wrt omm & ) L -k
2) 2400 b) 4500 ' 4 ghevy €) 1200 4sdo ¥ T d) 7 K

X 6o Yy < LA, gt @;‘-41“

DL Ajay starts i car from Chandigarh to Delhi at 11 AM. He travelled at 60 km/hr and covered

half the distance in 2 hours. At what uniform speed (in km/hr) should he travel to reach Delhi at Sy
] ( ¥

400 PM 9

3
L3

{¢

s
e

q)'ﬂ,l;

(o

3 40 b) 45 c) 50 d) 60 s
™ e & fedt @ BT TE: 1100 T PR § woar 31 961 60 A ¥l g G-
W g, wwd ¥ TN RN G IR Rech qm 400 W TF G F WL
2 ol . ,
wﬁwmﬁ(ﬁ.ﬁ.gﬁmﬁ)awmm? B
0 b) 45 ¢) 50 d) 60
Iy
i Vi Passes two bridges of lengths 800 metres and 400 metres in 100 seconds and 60 seconds
espf?CIiVely_ The length of the train s :
1 ) )
80 Metreg b) 90 metres ))/200 metres d) 150 metres 4o |§:f/\ );a
126 k- S0



g@w 800 ‘ﬁt‘(

A IR ey Ty 400 AT AR AW A G W j0p @99 W 60

\ 0 BN Yot AT D
g e . Hex
b) 90X ¢) 200 HeX d) 150
g 103. A man FOWS upstream 12 k d downstream 28 km taking 5 hours each t1;me. The velocity of
) 1 Water current ip km/hr i - - an
(O ) a) 22 ‘ 3
\H”{ g 5 ér—"’r) 5 ™23 vy ar 93 O
w - ‘;‘7 IS A 12 By g 2 ikl X 28 A g ﬁ?fjf NPT T
e L~ L
g7 TR A W A e o vy 3 0 7
¥ 3 3
R 2) 23 2 3 b) 2% c) 3 13
\() )\ ’/ \ 7z
9%. When the hands of 5 clock show 5 ‘O’clock, the angle between them is :
a) 150° | b) 100° c) 120° d) 140°
Wﬁﬁ@msw@ﬁ%ﬁﬁm#mmﬁm??
L150° b) 100° c) 120° d) 140°
105. In a race of 600 m, A can beat B by 60 m and in the race of 500 m, B can beat C by 50 m. By
how many meters will A beat C in arace of 400 m ?

a) 78 meters l?) 56 meters c) 76 meters d) 86 meters
et r@600%?{%?!3%‘A’,‘B’aﬁGO‘-ﬁE‘(ﬁ?ﬂEm%SfrTsoowﬂaa%wﬁ
L o546 ‘B’ ‘C’ ®T 50 WeX ¥ B T 2| o0 ﬂﬁ?‘q’%ﬁsﬁ‘y,‘c’ﬁﬁ;\ﬁ%ﬁ

T ? bo ' T4 CloYelbs )

N 5o a) 78 Hex b) 56 Hiex c) 76 Hiex 86 Hiex
Ry 30002730 94 3o 54
Ca 106. The student learns best by : -
39 6

a) listening b) reading c) doing 1l&§eeiné Bo

Premlt afewr ol & 2 e w2 o ¢

a) HT b) ¢ FX 2, 543

g TR e 3wy
107.  The lecture method is an effective way to - R
a) introduce new information/concepts c) develop adequa{é/:ttitudes
b) introduce a new S\k‘” d) stimulate participation of learne g
REZK PLE Bl T IHEwR, fafy g,

b) TP T Pl F IR d) Pt o emierd w1 s
108. The National Curriculum Framework (2005)

€mphasises on :
a) Teacher-centered classroom

] c¢) Evaluation-centered (;lassroom
o] gearsa oenieged ¢ s d) Project based curriculum
N UIeHEwE BEad (2005) %ﬁﬁmwww%?
a) fOTerm-afraa Hef-He o) e T
) Rremii-afea wear-a8 e -hiaa

D EIEECRE L EGRIERER
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106. The student learns best by :

a) listening b) reading i
ﬁ?ﬂ?ﬁ: a_%q_[ \__I_a@ _a_ E%_a_ Fﬁ@' T % ? C) dOlﬂg -aj Seein\g

a) HY
a) g b) 9@ &Y ﬁ/mal’\%'—g,d)éﬁﬁ

Yo
- . - ’z 7
a) introduce new mformatlon/concepts K

‘ f“
b) introduce a new skill £} iievelog adequaté attitudes

107. The lecture method is an effective way to :

@Hj;t Y S 3 Id_) stimulate participation of learnerg
A) TE TR/ FTR SRy R BsRa
b) T& T4 Pl B YRy ©) T

d) Rrenial & anierd @ SR
108. The National Curriculum Framework (2005)

€mphasises on :
a) Teacher-centered classroom

b) Learner- centered classroom 3 ]I::,va.luattit;)n-cdenterrgguﬂiismoﬂl
Ty e Fa (2005) PR 3 et e w2 2 7

a) fBregh-hfrgq He-hel ¢) WW—Q\TEQH FHef-hel
) fremii-sfaa wer-de

d) YIoiee 3mera MeIEH



109. Arrange the following teaching processes in order 9
i : owledge
1. Relating the present knowledge with the previous kn g

2. Evaluation
3. Re-teaching

4. Formulating objectives
5. Presentation of material : PYARY: 3
a) 12,3,4,5 b) 2,1,3,4,5 ¢) 5,4,3,1,2 . 32

frefofea Rewr gt & w1 3 o 7
1.ﬁ@ﬁ‘raﬁ%waffmﬁrma?rﬁﬁﬁ

2. Hearhd
3. AR 1
4. IW FoiRa we
5. W T R
a) 1,2,3,4,5 b) 2,1,3,4,5 c) 5,4,3,1,2 d) 4,1,5,2,3

Effectiveness of teaching can be judged in terms of :

,e)/Leaming outcomes of student
d) Use of teaching aids in the classroom

110.

a) Course coverage
b) Student’s interest

qHTEEe 37T T q i fhar ST ghar 8

a) P HaT ¢) BE & g & gy

b) TEAT B B d) Fe-58 § RiEe GeUd IUHT B IqUN
111. Imagine you are working in an educational institution where people are of equal status. Which
method of communication is best suited and normally employed in such a context ?

4) Horizontal communication ¢) Corporate communication
d) Cross communication

b) Vertical communication . '
Wﬁ%m@@ﬁmwﬁm%wwmwmwgl
7 god § FER BT P G OAET G99 GEH 8 AR FrAd W ¥ amr wmr 2 9
) @R HAT b) AT §AR o) FURC AR d) FE §ER

112. Which of the following is the highest level of cognitive ability as per Bloom’s revised taxonomy ?

¢) Analysing d) Creating

b) Understanding
qae e ISR ® R o

%)F Re_qrrgem_bering s o S o -
2 .?
T BT Ml 8 ) S N—— %:TWT

a) 9§ AT
rto:

_ '4 Clarify the concepts
a) Glorify the class d) Ensure discipline

b) Attract the students At 2
forq AT WAL F1 A R A E
ow g ¢) JaERT B T B

2) FaT 7 wEA d@n ST g
b) BT ) gl P P

14, Dyslexia i ated with : I
yslexia 1s asso¢ b) Behaviour disorder yRéading disorder ~ d) Writing disorder

a) Mental djsorder

113, Instructional aids are used by the teache



115.

2) AARE RwR S?E;T{am ) 77 [

« i . whi ers :
Demonstration” refers to 5 toqching method In which learn

a) do the process on thej; own

b) do practical work

¢) read from the text and internalise the St
d) are provided with an opportunity t0 observe the 0

TR T Ry fafy 3wl 8 OO

a) ThT F W EY

b) S Fa P T 2 et

¢) TEUETTH H Tg FX yhpm w0 A A il
ﬁﬁﬁa@ﬁmmﬁmﬂmmmwiﬁﬁ'a

p of the process y wish 10 learn

bject or processes that the

B
116. Teaching is a two-fold activity of communicating information and :
a) content b) intent %cylearning d) judgment
JETH Th el M B R F g T #1 GEO 2T & |
a) Tasm-arh b) SR ¢) diET dy Ffg &ear

117.

“Qperation Blackboard”, as described in National Policy on Education—1986, means :

¢) overhauling of system of education

a) constructing quality blackboards
d) universalisation of education

r})’ providing minimum essential facilities

i Ry A 1986 F NMwE wwas’ § AR HATS |
a) VAT TS B A o) Frem womeh @ sifaeiRiT
b) ~gAeH 3faE gl wer d) e @1 are e

118. The Head of the school uses the as idea-generation process that specifically e
various alternatives while withholding any criticism of those alternatives Y €ncourages

a) brain storming ¢) nominal group technique
_b) group discussion d) seminar

@ B qE FETE [E-EER A R w @ ]
ﬁﬁﬁ_mwwwﬁgﬁmﬁmw_ammv—%ﬁ, EGE)
a) faem Hed ¢) TET 9 qEE 8

b) WrYfed = d) )

119. Which Article of the Constitution of India deals with free and compulsory educati
10n for a))

Children upto age of 14 years ?

a) Article 19 b) Afiuls A ¢) Article 226 d) Arti
WmWﬁqmw']“WW%aﬁaﬁ ) Article 37
Tt 8 7 Wﬁa"q'ﬁ%mg
a) oG 19 /4-@[—@— = c) d@ 226 d) T 370

120. Which one of the following is the Deter item of ¢ce o 06 question 2

. i f motion .
a) Discuss Newton s’ laws Oof otion ? c) Explain each of Newton’s three laws of motio
b) What are Newton’s 1aws *d) Write a note on Newton’s laws of motiop f
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121. The remainder, when the square of any prime number greater than 3 is divided by 6, is

b) 2
Ww3ﬁa§9§awﬂaﬁ6€rﬁmﬁﬁmm a‘rﬁwwm%?
I b) 2 c) 3 d) 4
@ f one zero of the polynomial f(x) = (k> + 4)x* + 13x + 4k is reciprocal of the other, then k = o, j‘L
s 12!21-15;(.#‘ s’;( |3'.{'S- "3
2) I P LAl P G R
AR TGP f(x) = (K + 4)x" +l3x+4k$rwrrﬁfr§e%$rwﬁa%%a‘rk—- 21 .
a) | b) -1 c)/z/,sr . dy -2 F= ey "
A 2y =
123. For what value of k, do the equations, 3x—y+8=0and 6x —ky + 16 = 0 represent coincident ¢ B s
lines : ol -2yt =2 (oL Wz ©
a);l b) _51- c) -2 -t d) 2
kD B o OX @Hiee 3x—y +8=0Td 6x—ky+ 16=0TAICHS o5l 1 eI PR
wd & 0 yol p3 Xt
L
) b) - c) -2 A2 Fat
124. Ifx =1 is a common root of the equations ax2+ax+3=0 and x2+x+b=0 then ab = LYy =o
£ =
a) 3 b) 3.5 ) 6 - d) -3 ik
;ﬁ/(rlﬂiﬁﬁmax +ax+3=0Td X’ +x+b= omww—qw(root)%#r ab= o !
3 b) 3.5 aww} 0 )6 jpab=2 d) 3 ¢ %
' ] &3 n
| N b= L3
125. If the sum of »n terms of an A.P. be 3n° +nand its common difference is 6, then its first term is : ¥ - l’fl—ﬁ
2) 4 b) 3 ¢) 2 @) 1 L
j. Ak
Wfa@Ap%nmaﬁrmhmﬁmewzﬁfﬁww P
LSS g 93 e PR
pd )3 a1 92 d) 1 o,
b -k zu

126. The coordinates of the point P dividing the line segment joining the points A(1, 3) and B(4, 6) (k-2) 2

127,

in the ratio 2 - 1 are : B
a) (2, 4) b) (3,5) d) (5,3) s
R p, iy R A(L B)ﬁfﬁ—SBM@ﬁsﬁ—ﬁaﬁ%@T@gﬁz.l P ST
¥ iear g P FfEAeH ¢ 2° | ;
2) (2,4) /)/(3 5) ©) (4,2) d) (5,3) Y oy
! - &/
If ABC and DEF are similar triangles such that £A =47 and LE= g3° then 2C: A ( Zi-j—-‘* ,/: J <
) 500 b) 60° &) 700 d) 80° A =
= LRI % ﬁ; LA = 470 @Z_E 83 a\TLC : //"

Ui ABC ug DEF @717
2) 500 e b) 60° ¢) 700 d) 80°
Na N
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/128.

tangent PQ at g

| ' i O at a point
po .+ of radius 5 cm meets a line through the center
Q such that OQ = It P of 4 circle 0

12 em. Length PQ s

a) 13 cm d mﬁcm
. b) 12cm ¢) 8.5cm ) -.
W& T PQ, W Ay ;—cmcmmﬁw (Radivs) 5 8. 8, & Mg P T g

1284 |
WwﬁWQWE’HWWiﬁ?OQ

TIET PQ S D -

139 by 128 */(,\ c) 858 W aa

129. The yalue of sin? 290 4 sl 61° s -

: b) 0 ¢) 2sin’ 29" d) 2cos” 61°
sin®29° + sin’ 617 ey 2 _
21 b) 0 ¢) 2sin” 29° d) 2cos” 61°

130.

he tops of two poles of height 16 meters and 10 meters are connected by a wire of length L

meters. If the wire makes an angle of 30° with the horizontal, then L =
a) 26 meters b) 16 '

| W LAV . ) 16 meters ©) 12 meters d) 10 meters ,

I NN \16 AT T 10 AT o I a9 2 @ B R B L dex owrd a9

1 p},w,:k?j’?w%lqﬁﬁﬂﬂ@ﬁﬁ%ﬁm(withhmizomal) 30" Bl &1 #7 aAd B oar

d) 10 Hcx

If a 1.5 meters tall girl stands at a distance of 3 meters fror
m a lamp-post and
length 4.5 meters on the ground, then the height of the lamp-post is}? RS Rl o

a) 1.5 meters b) 2 met
T IEH TSR 4.5 HeT o= & W Ay e A 3 R 2 BT

Lo a) 26 frex b) 16 X Pt

=

. a) 1.5 #eX b) 2 ex ¢) 2.5 Moy 8 2.8 ez
.l lfllftzﬂllf:di;zao(l)ftl?essﬁ't(:c;g ?i ;a circle bounded by an arc of length Sr cm is equal to 20 1 g2 then
8 cm b) 10cm c) [2cem
. d) 16
u@@gﬂﬁ@@mﬁ%%@rsnﬁﬁWémﬁaﬁﬁﬁ)ﬁgg
@ #i- ? ar EN Hr Bremr (radius) oUEY 2. » 20m &
20
0 1”4"/, 4 7{213 8 a b) 10 &4 ) 1284 d) 162
{J_oa 107\’;/;3?/ ;\ cylinder with base radius 8 cm and height 7 5 Ited to fi
;. . c¢m 1s melted to form i
! "u:\ .§ » radius of the cone is : @ cone of height 6 o, The
v
b) 5cm
8/ ) 4em ¢) 6cm d) 8cm
™ e uw Riist REd m;‘m?qﬂ 8 AW w FEE 2 A 2, @ Rucey ¢ &
Y LN TN -
PPNy st b) 5 & & 6 A3 A
S
. -
he mean of n observations 1 x . If the ﬁrst Observation is increased by 1, the second b
, the new mean js . ' Y 2, the
third by 3, and so on, then
o T
\ a) T+ (2n+1) b) X+ z@ ) T+ (n+1) d) £ — "=
N /’/ A \2 /\)’ e'20 i ™ a

A

s




135.

5 7 P
frr/ &
il RTRT 7.
L L it
n ) i o |
Qﬁmﬁ el ﬁmmﬁﬁlgﬁmmﬁﬁz
,) - W IR a1 T j
4) x+ (2n _ | \ | —’
(2n+1) b)x+fl; c) ¥+ (n+1) /x 7 fity
: '. . bilt
f e probab‘_llty of guessing the correct answer to a certain test question is i% If the proba
Ol not guessing the correct answer to this question is Z then x =
a) 2 3’
b) 3
TE R e wo & ) o N
- : # wel <
T A A geE 2y g ﬁﬁﬂmﬁglqﬁﬁm =
3 X = ] ’L

a) 2
b) 3 }){ N ’-—é |
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a) Hydrog . :

b) C}):lorizzngag: Zﬁgcgrzsril;gizque are produced ¢) No reaction takes place

gfe gaar BRI 1d€ are produced d) Iron salt and water are produced
Iz'sﬁﬁg‘ﬁﬁﬁwma‘rwaﬁm%? et

F : T ST c) PIE gfofdar =g

137. A soluti '
solution reacts with crushed egg-shells to give a gas that turns lime-water milky. The solution

contains :
a) NaCl b) HCI C) Licl
d) KCI
o B A BT AW F G B e v e
i Th 1 g
T Gl 9T odl &1 Byw § g ?’Gh?ﬁ\%w
a) NaCl ; b) HCI ¢) LiCl K
138. Which of the following method is suitable for preventing an iron frying pan from usting 7
a) Applying grease 3) Applying a coating of zinc '
b) Applying paint ‘ ) All of these
9B & qort @ FerR P ST F wEH %Wﬁﬁ%ﬁﬁﬁﬂﬁ?;ﬁ%m%
g 7
& Ris % e @
a) o ] R
b) TFc oI :

f the bottom of the vessel is getting blackened on the outside, jt means thy

¢) the fuel is wet

139. While cooking, i
ooked completely _
d) the fuel is burning completely

a) the food is not €™~ letely
b) theﬁzelisnotbur%?gg #) Tl TE Fh gz ot 8 9 S99 ARy 2.
afe @ o T8 o) g7 e 2

d) dgr oft 7€ § O T 2

a .
b) SerT Tj\‘ﬁ " e with the formula XCl, whicy, js a solid with @ high melting po;
Jorl € roup ofﬂ’le Periodic Table as : " A

140, Element X forms 2 p in the same
would most likelY = b) Mg ©) Al L dag
mgmﬂﬁ?mgasﬁﬁm %Jxaﬁq%
a) Na a?ﬂ,{ﬁg agﬁﬁ‘ﬁﬁﬂ"iﬂwmgﬁﬂﬁ_ .?l
waﬁﬁ% c) Al d) Si

S

fe,?



141, The kidneys iq py,,

i f the system for :
a) nutrition be‘ngs areapart 0 Y

i rtation

HA g ; b iration c) excretion d) transpo
a) %WT q ﬁﬁﬁ?ﬁ Q%rmesplr @ fee %, lﬁl qehr 1 8 ?

b) vaeA ) Heicet N IIEIER

142, i _
2. Which of the follOWing iS a plant hormone ? _
R it T 3 b) Thyroxin ¢) Oestrogen d) Cytokinin
T W e d

b) aredifT ¢) ATES o d) AT

143,

; b) yeast ) plasmodium ~ d) leishmania
ﬁﬁ?ﬁﬁ?ﬂ%msexuaanaaﬁaa%mm%sﬁm%?
b

a) 3rHtaT c) EEIRTH d) ferermfrar

144, An example of homologous organs is :

a) our arm and a dog’s fore-leg ¢) potato and runners of grass

b) our teeth and an elephant’s tusks d) all of these

EEGE e D IR
/{)Mgmsﬁ?aﬁﬁ.mm ¢) I IR U B uEH
b) BAR T X RN B o d) 9% ¥ wof

145. Which of the following lenses would you prefer to use while reading small letters found in a
dictionary ? ' :

a) A convex lens of focal length 50 cm ¢) A convex lens of focal length s cm
b) A concave lens of focal length 50 cm d) A concave lens of foca| length 5
Wﬁqﬁtﬁi‘a«mﬁqﬁwmﬁnﬁﬁ%ﬁﬁﬁﬁ?mﬁv N

T ey
TR 7
/gfso & Hled oY T Iw@d ag ) 5 AW P Sy S

. ST
b) 50 &l wHIEW oY AT G oA d)sﬁ.ﬁ‘r.qﬁmﬁuwaama%

46. The changc in focal length of an eye lens is caysed by the action of the
116.

b) retina ¢) ciliary muscles d) iris

a) pupil ﬁwﬁwm%ﬁﬂaﬁqﬁmﬁaﬁ
REISICH] /g{%%ﬂ- | ¢) R mger d) e
a) g

, 20 V and 100 W. Whep it is operated on 110 V, the power

‘= bulb is rated 2 Onsumed
147. An electric |
will be : ' W
b) 75 50 W d) 25 W

a) 100 W 1;ra' 100 afe GRS awt QGE % gog @l 110 e RSl Y ﬁﬂ:ﬁ STaT 27
220 AT . . §
W&%mﬂﬁﬁ b) 75 dlc c) 503dfc d) 2541

a) 10031C



148. At the time of short circuit, the current in the electrical circuit :

a) reduces substantially ¢) increases heavily

b) does not change : d) vary continuously

e ghle & T, Oy Wi ¥ ge .

2) ST TR B A S 3 ) TG T W% S @

") T SR e e 4 P Rt dar 2

149, Most of the sourceg of energy, e use, re

X ) Present st . Which ing i
not uItlmately derived from the Sun’s ene red solar energy. Which of the foﬂowmg .

Igy ?

a) geothermal energy  b) wind energy ,/9)/nuclear ener d) bio-mass

M F T A oGg Sl : -
ﬁﬁ%ﬁqaﬁﬁm;ﬁiﬁﬁﬁwm%{%;?@é o # T
a) e gt b) s gt ) TR 3t d) Se-wrey

150. Which of the following are ehVironment. iend]y Practice o
ICes !

fr
8) Carrying cloth-bags to put purcpyge ;- while g
b) Switching off unnecessary lightg ang fans Shoppmg
¢) Walking to school instead of Eetting yoy; Mothe, ¢
d) All of the above © drop you on her scooter

W%ﬁWWW-W 3
- ﬁ_ﬂammm%aﬁ?%ﬁ?ﬁ%?

") e g @jﬁﬁgﬁgﬂ? o

e - mmwﬁgr{waé



Recruitment Test for the Post of JBT
(Samagra Shiksha, UT, Chandigarh)

Date of Written Test : 27-01-2019

Provisional Answer Key - Set D

Q. Answer Q. Answer | Q. Answer | Q. Answer | Q. Answer
No. No. No. No. No.

1. A 31. B 61. B 91. A 121. A
2. C 32. C 62. C 92. B 122. C
3. B 33. A 63. D 93. A 123. D
4. B 34. D 64. B 94. C 124. A
5. C 35. A 65. B 95. B 125. C
6. A 36. A 66. D 96. B 126. B
7. C 37. A 67. A 97. C 127. A
8. D 38. D 68. C 98. D 128. D
9. A 39. B 69. A 99. C 129. A
10. C 40. D 70. A 100. D 130. C
11. B 41. A 71. B 101. A 131. C
12. D 42. C 72. B 102. C 132. A
13. C 43. D 73. © 103. D 133. D
14. C 44. C 74. C 104. A 134. B
15. A 45. B 75. C 105. C 135. C
16. D 46. C 76. A 106. C 136. A
17. A 47. D 77. D 107. A 137. B
18. D 48. A 78. D 108. B 138. C
19. C 49. A 79. C 109. D 139. B
20. D 50. D 80. D 110. C 140. B
21. B 51. D 81. A 111. A 141. C
22. A 52. A 82. B 112. D 142. D
23. B 53. B 83. A 113. C 143. B
24, A 54. B 84. C 114. C 144, D
25. A 55. B 85. B 115. D 145. C
26. D 56. D 86. C 116. D 146. C
27. B 57. C 87. D 117. B 147. D
28. A 58. A 88. B 118. A 148. C
29. A 59. A 89. B 119. B 149. C
30. B 60. A 90. D 120. C 150. D




	Chandigarh JBT Previous Year Question Paper 2019 HaryanaJobs_in
	Chandigarh SSA JBT OFFICIAL ANSWER KEY answer key 2019



